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Draw a simplex telephone circuit and explain it.
With help of a schematic, explain stand-by mode of centralized stored
program control (SPC).

Discuss merits of digital systems for speech communication over analog
systems.
Explain level-3 processing of distributed SPC.
OR
Compare single stage networks with multistage networks.

What is companding? Why is it employed in PCM system? Draw a
block diagram showing the process of companding.
Draw switching structure of basic time division time switch.

OR
What is vocoder? Expalin voiced sounds and unvoiced sounds and
discuss how these sounds are modeled while designing vocoders.
Draw schematic of a time-space-time (TST) switch and explain its
operation for moving input subscriber I1Ss, (The first subscript i.e. 5
indicates line number and second subscript i.e. 2 indicates the time slot
number.) to output subscriber OSgs via intermediate time slot 7.

Explain the term ‘erlang’. What is its unit? A subscriber makes four calls
during an hour. Time duration of the first and last call is 15 seconds
each and the durations of second and third calls are 10 minutes and 1.5
minutes, respectively. Find the traffic in erlang, CS, CM and CCS
offered by the subscriber.
Write short note on Grade of Service.

OR
Draw circuit diagram of hybrid and explain its working.
Discuss structure of international and national telephone numbers.

Discuss comparison between common channel signaling and inchannel
signaling.
Explain circuit switching technique for data transmission.
OR
Describe different types of LAN topologies.
Discuss motivations for Integrated Services Digital Network.
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